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chel: ol gy
A2 .2 FH-S(BH) - HRAY - BES il
101 14 Hl 869,909
01 2= 869,909
oJe= 667,091
Oss 621,695
-A Sl 76,948
=, 76,948,000& x1H 76,948
- ek 544,747
- 55 4,000,400 1 128 48,005
o= 3,510,400& *4H 123 168,500
= 2,911,000 x5 «12& 174,660
- 82 2,578,300& *4H 123 123,759
A 2,485,200& x1H 123 29,823
OFSE=Eal=s 544,747 ,000& *1/12 45,396
o= 108,701
OPIE=E=s 12,960
-t 2 X 40,000 «16H «128 7,680
-2 AINE 20,0003 x22H «12& 5,280
Oostul2x Y 5,560
-NSsHM 463,300 x3H x43] 5,560
(OFSFes =) P = 21,240
-25F 0] & 130,000 x8H »12& 12,480
-20~254 0] &f 110,000& x3H 128 3,960
-15~204 0] 2+ 80,000 «5H x12& 4,800
Ole3sRE=+E 38,855,000 *4. 1%+ 122 19,117
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- JIsd22Y Jte=E 10,0008 1 128 120
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